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U G. Sth Semester Exammatnon 2022

PHILOSOPHY
[HONOURS] _ '
Course Code : PHIL-H-CC-T-12

Full Marks : 60 - : ~ Time : 2' Hours
The figures in the right-hand margin mdzcate marks.

Candzdates are requzred to give their answers in their
own words as far as practzcable

1. Answer any ten of the following questions:

@I i el e e 3 |
a) -State the definition of set.
- e e Rge |
b) Letting A= {i}, B= {1 2,{1}}, c= {1 {, {1}}},
' find the following: (A NB)~C
@ A={1}, B={L2{1}}, c= {1 {1 {1}}}
o eRre fef 7 2

(AnB)~C

[T urn Over]

. 2x10=20




) .

d)

If V be the set of all positive mtegers and
A= the set of all even posmve mtegers, B=the

set of all 0dd positive mtegers then find the
~ followmg ‘ '

ﬂﬁV@lmwhvm\w @, GR A= F

TRLF (RS ARt G, B= 71 ek Reit

R G, Wﬁtﬁf@%ﬁ‘ﬁﬁﬁ°
' ~(AUB) |

- Translate the following statements into
symbolic form followmg set notations given

below:

ﬁﬁ%ﬂewﬁﬁﬁ?ﬁwmﬁﬁmm ”

WWWWW’

[A= The set of all Amencans - |
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B= The set of all philosophers '

C= The set of all persons who drink coffee

M%The set of all persons who dtink milk ]

i)  All Americans are phildsophers. |
R SR 2 effas |

ii) Some Americans drink both coffee and
milk. |

IR RIS % 4% 7 T2 iy
W
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Which of the following statements are true for
all sets A B and C?

@i oS e A, B, C«ﬂacaﬁfwﬁﬂﬁﬂ‘.
ﬁqﬁeﬁammmﬁ’m?
Ae¢B and BeC—>AeC

" AcB and B€cC——(CcA)

”Express ‘the definition of empty set ‘

ymbolically

PRl mmzﬂﬂmmm@ﬁwtml

-Givean example of positive and negative terms.

e @ el AT qﬁw Wl
| Distiﬁguish between subset and proper subset.
B @ TN ot AT e |

Let A and B be sets such.that An~B=A and
BA~A=A. Represent this situation by a
Venn diagram. N

@A, AeBmcet?h @AF AN~B=A R .
B~ A=A | GB0E (oA TE I

What is meant by ordered couple? Give an-

example.

RS T T e a2 G e e
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k) What is the dlstmctlon between Words and :

Terms?.
1% @ ol g AL e
1)  Show the Tree of Porphyry.
| b oner
m) Give an example of F igu;'atiVe Definition.
SIETEIfFe! (AR Aswta @3 Srimaet s |
"n) %et is fundamentum divisionis?
| Reretm 1w o &
'0)  Test.the following divisieni

Books into cheap, historical, fictional and
English. | |

T A3, armﬁasw -
Py o 2R — 2

2. . Answer any four of the following questions:

‘ v 3x4=20
Q- Bl 2o Teg vie ¢ .

2) - Prove the validity of the following principles:
RefeiRe famem ! oma 7 2

i)  A~(AnB)=A~B

661/Phil ’ (4]

b)
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Are the following assumptions .mutuall'y

consistent?

ﬁﬁ%ﬁ@%ﬁeﬁﬁwﬁaﬁwﬁ%ﬁ? |

ii)

C#A )
AnB=A

- ANC=A

(AUB)~C=A
Explain the following rule of definition:
Sz RIS T FrRe R
ENRIRER ‘
A deﬁ'nition must be ﬁer genus et

' differentiam.

! T R, T RO TSI
iR wifs ¢ Rrewtea T A SIS |-
IState what is wrong with the following
definition:

e ﬂ'@ﬂ? 2| m{@ sIRge T2

A cause is that Whlch produces an effect.

mqqaeﬁmwf@@w:mr




661/Phil

Q-

If Ais the set of all even positive 1ntegers and
B is the set of all integers which are greater
than 10, what are the following? ‘

W A A 7R ITRYE @R 9 B @R so
aawﬁa@mmmeﬁim@mmﬁﬁ%%mﬁ

. e

i) AUB
iij  AnB
iii) A~B

iv). B~A

. V) A~Mnﬁ)

Dlstmgulsh between Loglcal Division,
Physical Division and Metaphysical Division.

Wﬁmwﬁw,wei@ﬁ@wa«m%
Rt Tug st e

i)  Compare division with classification,

cﬁaaaqef%smﬂ:aavuvmﬁmaaw

ii)  Illustrate t’he.concept. of division by

dichotomy.
faceifbe Retem= (division by dichotomy)
19 7RI Seramet Rge 39371
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3.

A:ns“;er any twdbf fhe following questions:

@_m@am@mm°

a)

b)‘
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10x2=20

Test the valldlty of the followmg arguments by .
Venn dlagrams _
mwﬁﬁfavmmﬂlﬁﬁﬁﬁ%szﬁ@@ﬁvxvvr1emm
43 . .

i)

ARBc~C I
AuC;B |
. ANC=A

ii) All liars are prejudiced.

Some witnesses are not liars.
. Some w1tnesses are not prejudlced
ﬂaﬁmww%sﬁﬁﬁemmwau
@ R R T R
What are the prédicables admitted by Aristotle?

Explain each of them.

epif2eate Mg RYEeafy F H 2 efefa it e

F4I
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'A relation R is symmetric, asymmetric
and anti-symmetric in the set A'- Express

, separately in symbols.

R-T9%M A-Gfics s, Ry e

; -W@—WWWW

F41
Let A= {Frege Russell} Give an-‘
example of a relation, which is
irreflexive, symmetrlc and transmve m'
A

AT, A= { G, O} | TR R
crlte (@, @I 3F A @ire w—w
TR GR FRFT |

Test the followmg definitions:

st el A9 98
i)  Man is a rational animal.
: ’".’i“ = Wm G|
ii) Man is highly educated rational animal.
a2 Sw e IRRRETR G -
iii) - Man is a rational and moral animal.
| w3 e wies &R
iv) Man is a featherless biped animal
TR A AR, et &
v)  Man is the image of God. -
e e AR
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